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QUESTION 1

There are 16 SAS disks available for creating the aggregate; you use 14 disks to create a RAID DP aggregate. The
RAID group size is 8 disks in a raid group.

Which statement is TRUE?

A. You create 1 raid group of 16 disks.

B. You create 2 raid groups of 6 disks each.

C. You create 2 RAID groups one containing 8 disks and other containing 6 disks.
D. You create 1 raid group of 12 disks.

Correct Answer: B

QUESTION 2

Which three statements apply to an entry in the /etc/exports file regarding exporting directories/qtrees and volumes?
(Choose three.)

A. Each volume must be exported separately.

B. Host names used in an export must be resolved.

C. Exports are accessible only to hosts with names.

D. Exports can access multiple paths on the same volume.

Correct Answer. ABD

QUESTION 3

One of the steps while configuring CIFS protocol on an SVM using System Manager is joining the CIFS server to the
domain. Which statement is NOT TRUE regarding this task?

A. You need to provide fully qualified Active Directory Domain Name.

B. You need to provide credentials of the user who has privileges to create a machine account in the domain.
C. You need to provide the CIFS protocol license for the SVM.

D. You need to provide CIFS server or net BIOS name of the SVM.

Correct Answer: C

QUESTION 4
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Which three items are NFS resources for export? (Choose three.)
A. volume

B. subnet

C. directory/qgtree

D. aggregate

E. file

Correct Answer: ACE

QUESTION 5

Which iSCSI security method encrypts data between the initiator and the target?
A. IPSec

B. CHAP

C. LUN masking

D. Header and Data Digests

Correct Answer: A
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